Stuga Mg JdtA 2 SSHAK

NS SN E=S=1am) (Z=4))
082 192 (”) 082 20 (5t) 082 21 (%) 082 222(=2) 082 232 (2)
gt e EFUET g AADIHBES
S1=28(1.2.5.6) |- 1BXIZMERR |- 100tAM(2.5.6) |- 1H2T=(1.9) |2(5.6.13.16.18)
S1DEFESMY2 [(EH01E)(1.2.5.6) |- 1=H0/RtE= HAXES 12 HRIMES R
(5.6.9) S IEHMEUES2 [(1.5.6.9.10.16.18) [(5.6.9.13.15) (1.2.5.6.10.13.15.
- S 1Am0| (5) B D] BRPIESITE)) 16)
B T (1.2.5.6.10.13.15.1] - 1HI0O1A A& =0H|(5.6.13.16) - TAFQIDHAZH S1LBOIHAAD
sStuga Fae 6) a - 1HH=2X1(9) - 1Al2lZ(2.5.6) [(2.5.6.13.16)
S E=2R(9) (1.2.5.6.10.15.16) | - 1HILILIR R (2) - =2 RI(9)
g DAE =2 %1(9) EEEEICES
0IENRER(5) |- 1AI212(2.5.6) ob) (11)
1Hel
o OfF A _@E _?—JQ 2'(_@8 of ok2k O OF2F o OF 2t of oF2k o OF2F
Ol A Xl (keal ) 724.33 724.33 -3.6 732.9 723 1 635.3 702.1 698.8
B35 2(g) 57.8 100.2 94.0 85.3 104.6 113.1
SHe Rl (g) 18.92 18.92 15.2 22.8 30.2 29.3 28.7 20.1
WETE)) 27.0 26.4 23.5 18.3 17.3 17.6
HIEFDIA(ke RAE) | 162.05 229.13 173.4 46.2 282.4 106.1 343.8 88.8
El0+2! (mg) 0.31 0.37 0.5 0.3 0.7 0.4 0.6 0.3
2l =2t (ng) 0.36 0.43 0.7 0.3 1.5 0.5 0.9 0.4
HIEF2IC(mg) 24.87 31.72 25.8 23.9 57.3 0.6 30.9 16.1
2r%5 (mg) 242 .25 290.31 218.2 218.9 240.0 214.9 315.2 102.0
&2 (mg) 3.71 4.79 3.1 2.8 3.4 4.0 3.0 2.1

w oA = PAAAHFEFY £10%, AR E 3R (55~65%) 0 © A (7~20%) A HH(15~30%)
* 1gF °1]L17<](kcal)“ Gl E 4, 9@l 4, AW Okcal 2 34
T H AFES €2U95Y Fod7A Y] JEFe HFdU).

_{

* 4P 27] AH

=
01. 35, 02. %, 03.9, 04.8F, 05.tF, 06.%¢, 07.225°], 08.41, 09.41%-, 10. 5 A 37|, 11. 5o}, 12. EvlE, 13.0}3}
AR 14.35%, 15,9317, 16.4317), 17.249], 18.F/MHF(F, A&, 33 £3}), 19.3
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ARrSstu (84)
088 19 (&) 088 20 (3) 088 21 (=) 088 222 (=) 088 232 (2)
REENT S ETEEEET TR S EFIPIETEE T BRI
- 1GILIHEI St AHIZH(1.2.5.6.9.10.15.16| - 1€9HA DI|I2=2 [(£)(1.2.5.6.9.13.1] - 12T Xt
(1.2.5.6) ) (5.6.9.16) 6.18) (1.2.5.6.9.10.12.1
A021019=2(16)| - 12U E= C1EEHES Y < 12 0D[JFXIEH(RE [3.15.16.18)
Sz It =L & |(5.6.9) (4.5.6.13) £)(5.6.16) 1G9 =2/2U0R
(Xtg) - 12428 QX (KE S 1DR0IEIRE S ESRS (1.9)
S 1DF0IXI =S 28| 2)(9) (Xt£)(9.13) (5.6.9.12.13.17.18)| - 12 =40/ M &
(2.5.6.13.15) AR EH0I(1.5) | - 1HSAHINE D - 1201012 =(13)|[(XH2)(5.6)
S1EXNEEA 1S EF01/LEE [J1/0kH CATMSRZE (R | - 12U22 00
=2t (1.5.6.9) (Xt2)(5.6) (1.2.5.6.10.15.16.1|2)(5.6.9) (5.6.10.13)
St 2 Al oforat - 1= 2R(9) =P 8) - 1E+2 08 S Ax2143A
(1.5.6.13.15.18) - 1= XI(9) (1.2.5.6.13) (1.2.5.6.15)
12 S0((9) -10L0l A3 (2 12 X(9) < 1= 2 XI(9)
-1RFZ2E tH)(1.2.5) -TNEIERAHE - HHE G LIE0E
(80ml1)(2) (2.5.6) (Xr2)(12)
[ezKe) tj\ J_JO;’E ?‘—Jg $%B of O 2k o4 Ok 2k O OF 2k o4 OF 2k o4 Ok 2k
ok o oe HE P U R =R R U
Ol L4 XI (keal ) 724 .33 724.33 2.5 694.6 672.3 715.4 757.2 870.8
Et=32(g) 57.7 113.3 84.6 105.7 123.8 103.4
CHBHEl (g) 18.92 18.92 18.0 35.9 38.8 18.8 22.7 49.7
Xe(g) 24.2 10.1 18.4 24.2 18.3 28.0
HIEH2IA(48 RAE) 162.05 229.13 163.5 136.1 265.4 97.0 258.0 61.0
EI0F2! (mg) 0.31 0.37 0.6 0.4 0.4 0.2 0.5 1.3
22 Z2tel (mg) 0.36 0.43 0.5 0.5 0.9 0.2 0.6 0.5
HIEFRIC(mg) 24.87 31.72 17 .1 18.0 12.7 8.6 28.0 18.3
2 & (mg) 242.25 290.31 237.3 226.6 157.8 174 .5 398.9 228.8
&2 (mg) 3.71 4.79 3.0 3.1 3.4 1.7 4.0 3.0

* QUA = AFEHAF] £10%, AV = B8 (55~65%) 0 S A (7~20%) A HH(15~30%)
1g% oA (kcal) & B53E 4, ©hila 4 ZHF 9kcal & FAF
* = H AHES AR UARE FLUAVA 9 FFH] HA YU

*

, 02,99, 03,91, 04.%3F, 05.tH%, 06.92, 07.325°], 08. A, 09.A419-, 10.¥: X 227], 11.E%0}, 12.EntE | 13.0}3}
4,35, 15.5v317], 16.2437], 17. 94 ], 18 x H%(?a} A8 &3 £33, 19,3
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PN SIIE=2=13] (A A1)
082 192 (”) 082 20 (5t) 082 21 (%) 082 222(=2) 082 232 (2)
BEETES) e SIS g - 1E X MOFH bl &
S 1HIY Y (3.5.6) | - 12 CHANIOH (1.5.6.9.10.13) LT g (5.6.16.18)
SlgolEE= (1.2.5.6.9.10.13. 15| - 12X == (1.5.6.9.10.17.18) | - 15 2a ==
(5.6.9) .16.18) (1.5.6.9) - 1S 220l (5.6.9)
- =P InblE=] BT PR BB R A (5.6.10.12.13.15.16| - 125240 (1.5)
B T (5.6.10) (5.6.9.13.17.18)  [(5.6) .18) - 13t
sStnga g THHZ= 2 RI(9) SIHOIHARHE |- 1gRrEoE SlER/gER  (1.2.5.6.12.17)
134 (12) (5.6.10) (1.5.6) (5.6) S 12 =01(9)
TabEs/ DR/ M| - 12 X1(9) 12 5£0](9) - =2 X (9) 1B AI2(13)
(Xt2)(5.6) S EEL Rl ST C0E - 1E@=0t0/A38
(1.2.5) (1.2.5.6.13)
o OfF A _@E —?_JQ 2':_@8 of ok2k O OF2F o OF 2t of oF2k o OF2F
Ol A Xl (keal ) 724.33 724.33 4.5 679.7 899.8 810.4 789.3 606.4
B35 2(g) 54.5 116.6 114.7 11.4 75.5 94.0
SHe Rl (g) 18.92 18.92 15.1 29.4 28.7 23.8 38.3 21.8
WETE)) 30.4 9.0 38.1 29.1 36.2 14.8
HIEFDIA(ke RAE) | 162.05 229.13 149.9 138.0 271.4 50.7 135.8 153.5
El0+2! (mg) 0.31 0.37 0.8 0.7 0.5 0.1 0.9 1.9
2l =2t (ng) 0.36 0.43 0.4 0.4 0.6 0.2 0.6 0.4
HIEF2IC(mg) 24.87 31.72 28.1 19.8 37.5 10.0 10.5 62.6
2r%5 (mg) 242 .25 290.31 154.5 131.5 231.3 115.5 190.0 104.2
&2 (mg) 3.71 4.79 2.9 2.3 3.3 2.5 4.3 2.1

 UA = AT £10%, AR E Gr3tE(55~65%) ¢ @A (7~20%) A HH(15~30%)
* 1gFd AU A (kcal) &= &H3tE 4, @A 4, A9 9kcal 2 FHAF
T A AFAFS 92U FoUAA 9 ddHe] A JYTt.
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* 4P 27] AH

=
01. 35, 02. %, 03.9, 04.8F, 05.tF, 06.%¢, 07.225°], 08.41, 09.41%-, 10. 5 A 37|, 11. 5o}, 12. EvlE, 13.0}3}
AR 14.35%, 15,9317, 16.4317), 17.249], 18.F/MHF(F, A&, 33 £3}), 19.3
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